DIRECTIONS: Choose the correct answer for each question. If necessary, use a dictionary to
help you.

1. Which 2-syllable word has a different stress pattern from the others?

A. basis
B. burly
C. adept
D. essay

2. Which 3-syllable word has a different stress pattern from the others?

A. eccentric
B. embarrass
C. appalling
D. emphasize

3. Which word has the stress on the final syllable?

A. circumnavigate
B. descend

C. distraction

D. ferocious

4. Which 2-syllable word has the stress on the final syllable?

A. successor
B. defy

C. customary
D. derive

5. Which 3-syllable word has a different stress pattern from the others?

A. dismantle
B. emigrate
C. emphasize
D. clarify

6. Which 4-syllable word has a stress on the first syllable?

A. censorship
B. dedicate

C. calculation
D. anonymous
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